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Topic:- General Knowledge and Logical Knowledge

1) Largest Desertin Indiaisin __/ Wﬁmww mﬁ'@ﬁél
1. Uttar Pradesh / 3R UG

2. Bihar / /S8R

3. Rajasthan / XTSI

4. Madhya Pradesh / H&] e

Correct Answer :-

« Rajasthan / TSR

2) River that makes a boundary between Madhya Pradesh and Uttar Pradesh is / H& m@ wm &

1. Chambal / IS
2. Gambhir / THR
3. Jamni / ST
4, Betwa / 9ddl

Correct Answer :-

o Jamni / ST

3) Which of the following railways in not part of the World Heritage Site — Mountain Railways of India? /

frafefea & 4 o179 a1 vaur fay (R RIE -HRA & Uadid YqHRT $T U 8] 62
1. Nilgiri Mountain Railway / i uddia Yaurt

2. Jammu-Baramulla Line / STH] SRTHCIT ari

3. Darjeeling Himalayan Railway / gIfoiferT %ﬂmw

4. Kalka Shimla Railway / BTcIdT FRET YaHN

Correct Answer :-

» Jammu-Baramulla Line / STH] S[RTHcIT aw
()



4) India’s first passenger train ran in theyear __ ./ YRA B 7>T “qﬁﬁiﬁ, CL o =t At
1. 1853
2.1923
3. 1835

4. 1917

Correct Answer :-

« 1853

5) What is the name of the ruling family of Mysore? / ﬁ'&? & RIS UNRAR &1 1T %?
1. Basavaraju family / S¥TdRIY] URaR

2. Narayan family / -TIRTIUT gRaR

3. Wodeyar family / TfeaR TRaR

4. Lakkanna family / AeebTHT URAR

Correct Answer :-

« Wodeyar family / ATTSIR URAR

6) Rohtang pass is in / ﬂ'@?ﬂ'ﬂaﬁ ﬁ'%l
1. India / HRd

2. Bangladesh / SHATGR

3. Nepal / Jura

4, Pakistan / CHEESIG]

Correct Answer :-

o India / HRd
7) Government of India has appointed as the new Vice-Chairman of NITI Aayog. / HRd IRPR a3
B T w1 T Iuremer g o @ 1

1. Sanjeev Sanyal / Ftia =T
2. Sanjay Mitra / Joig foar
3. Ramanathan Ramanan / THATY- YHU

4. Rajiv Kumar / NEIE PHR

©)



Correct Answer :-

« Rajiv Kumar / JTSid HHR

8) Where was the World Conference on Environment 2017 organized?/ 2017 H TgiaRur i) ﬁ'%[ '\‘Iﬁﬁqﬁ‘f
Smaifor fopam T AT 2

1. Jaipur / STYR
2. Bhopal / T

3. Indore / %E:R
4. Delhi / faeett

Correct Answer :-

« Delhi/ i

9) In which year was the first Five Year Plan implemented? / UYH UeradTa g &t fea af & FI'ITL[ﬁ‘TCIT
T UT?

1, 1951
2. 1952
3. 1955

4. 1950

Correct Answer :-

10) In which state of India is the famous Sanchi Stupa located / WRd & o<t o0 & R Al &1 & @

1. Jharkhand / IREES
2. Andhra Pradesh / 3179 QéQl
3. Maharashtra / HeRTY

4. Madhya Pradesh / & e

Correct Answer :-

* Madhya Pradesh / H¥ e

11) The impact of the Green Revolution was felt most in the production of / fras SdAlgA IR 'Ea'ﬁ?l' hifd BT
THTT I MY usT 2

(4)



1. Wheat /ﬂ_g
2. Pulses / GIdT
3. Rice /dIdd

4, Oilseeds / I?‘IFIG:I

Correct Answer :-

« Wheat/ ﬂ’é"

12) The popular sitar player who learnt music from musician Mahar in Satna is / Ui RaR are® foreiv
it Y Ri&m o= & Hiiias 78T 9 U -

1. Pandit Raguram Misra / GfSd XYRTH ]
2. Pandit Jesraj / UfEd SRR

3. Pandit Ravishankar / GfSd Ifdeiehr

4. Amjid Ali Khan / 3{H5Ig 3{cil @M

Correct Answer :-

« Pandit Ravishankar / GfSd IfARdH

13) The approximate length of river Narmada is about / THer ¢t Bt SivTa ﬁﬁ'lg ST 2l
1. 900 Kilometers / 900 fr@HIex

2. 3200 Kilometers / 3200 foraHiex

3. 1300 Kilometers / 1300 faHieR
4, 515 Kilometers / 515 fpciIHIe

Correct Answer :-
« 1300 Kilometers / 1300 fpaHIex

14) If RICKSHAW is coded PKAMQJYY, then how is BICYCLE coded? / ¢ RICKSHAW &I PKAMQJYY |

Pifed fpar &Irar 8, 9 BICYCLE &) &4 Sifed fbar s

1. DGEWEJG
2. DKEAENG
3. ZGAWAJC

4. ZKAAANC

Correct Answer :-

(%)



= ZKAAANC

15) Arjuna Award is given for / 3T R¥PR & fore fear sman g1
1. bravery on battlefield / g@?{ﬁ?{ﬁ a_ETI@-\Pf

2. exceptional service in emergency / ST FRUfT & TR HaT

3. outstanding performance in sports / o [Sca Q_Q'_‘\’h

4, social service / TS aT

Correct Answer :-

 outstanding performance in sports / A H 3h T UaR[

16) Patna stands on the banks of __/U&HT T8 F PR RS R
1. Sutlej / Hdelsl

2. Ganga / T

3. Narmada / THET

4, Mahanadi / IIE'FI_C(PT

Correct Answer :-

« Ganga /TRT

17) Who among these was the founder of the Arya Samaj? / $79 I AT TS & TRITIS DI A?
1. Ramakrishna Paramahamsa / RTHH W[ RUEYH

2. Swami Vivekananda / T8 f[dad e

3. Swami Dayanand Saraswati / Wl EHE IRt

4. Raja Ram Mohan Roy / XIS I HigA 1

Correct Answer :-

o Swami Dayanand Saraswati / W GG SR

18) Who was adjudged as the best Director at the National Film Awards 2013? / T@Hﬁ'ﬁqw 2013 ﬁ,

a9y ez & U fras garmar a2
1. Hansal Mchta / 899 Hadl
2. Balu Mahendra / Eﬂﬁr@a

3. Anand Gandhi / 3{THg et

(6)



4. Rakesh Omprakash Mehra / B HUBTA ﬁB?T

Correct Answer :-

« Hansal Mechta / 89 ﬂ%?ﬂ

19) Who won the ‘third battle of Panipat’?'/ “UT-IUd BT TIERT g frae sitar ur?
1. Tbrahim Lodhi / SSTeH AIG!

2. Ahmad Shah Abdali / 3/GH< QT8 feaTell

3. Sher Shah Suri / R 2§ W

4. Hem Chandra Vikramaditya / %‘? =i fawHridd

Correct Answer :-

« Ahmad Shah Abdali / 3§H< QT8 3fecTalt

20) Find the odd one out: / T fawm Jd Tﬁ'l\;rl'q':
1. cock and hen /H‘ﬁ GﬁTH’ﬁ

2. King and Minister / XTSIl SR

3. Husband and wife /tlﬁf \’rﬁ?qﬁﬁ

4. Dog and Bitch / Pl @TW

Correct Answer :-

e King and Minister / XTSIl 3R Y

21) Find the odd one out: / T faUH JTd PIfTT:
2,9, 28, 65,126, 217, 295

1. 217
2.126
3. 295

4.9

Correct Answer :-

e« 295

22) What is the value of x in 3x6 — 2x0 - x6 = 60? / 3x6 — 2x0 - x6 = Goﬁ'xmmtﬂq%?

1.6

(7)



2.5
3.3

4.4

Correct Answer :-

e 4

23) In a column of boys, Richard is the fifteenth one from front. There were thrice as many boys behind him as
there were in front of him. How many boys are there between Richard and the seventh boy from the rear end of the

column? / TSH| & TH W H, RIS 31 T w==gai &1 3P IR oreq dsd 3 3R dF T d8 & I9P NI
Y RS M IT TR S N F RN Y I1ad a1s & T A fFa s &2

1. 35
2. Inadequate data /@ET Wﬂ%
3.34

4,33

Correct Answer :-

« 35

24) The tenth Guru of the Sikhs was /ﬁl@%ﬁa"ﬂﬁ )
1. Guru Amar Das / = 3R QI

2. Guru Angad Dev / T[& 371G ¢a

3. Guru Gobind Singh /T\R‘T'rmﬁ?{ﬁrﬁ{

4. Guru Arjan Dev / = 3‘|\_{I7'Taa

Correct Answer :-

* Guru Gobind Singh /[ Mg ﬁi‘s’

25) Complete the series choosing the missing number: / o IBAT TIHY YT I GRT HIToTT:

1,2,4,7 11,16,

1. 20
2.24
3.18

4.22

Correct Answer :-

(8)



26) Complete the series choosing the missing number: / & IBAT FTHY AT DI GRT HIToTT:
6,9,18,45,

1. 85

2. 135

3.61

4. 52

Correct Answer :-

« 135

27) Complete the series choosing the missing number: / & TSI BT FTAT P GRT DIToTT:

22,15, 8,1, ,-13

28) Select the option that is true about the Statements and Conclusions given: [/ 3¥ faTe o1 w9

PIfoTe Sife AT T AT 3ix fswul & T & 98 8:

Statements: / ®Y-:
All bangles are round / Tf} gf$at ia Bl &

Some rings are bangles /| P9 \iI"II%CIT ﬂ:%mﬁ?ﬂ %

Conclusions: / A ]
I. All round bangles are rings / Hﬂ-ﬁTﬁF{?{%ﬂT ffeai 3
II. Some rings are round / T F[[&ai Md &

1. only conclusion Il follows / Had =Py [ @WW%

2. only conclusion | follows / Had fAepY | &WW%

3. neither conclusion I nor conclusion Il follows /¥ &1 &G | GthESDIﬁEb_ET [l &WUTW%
4. both conclusion | and Il follows / FTeFT [ 3R 11 ST WW%

Correct Answer :-

9)



« only conclusion Il follows / P 5HY I SFTHUN HRT 3

29) Select the option that is true about the Statements and Conclusions given: / 39 fa®eq &1 99+

HIorg Siifes AT T ST SR el & o & 98 @:

Statements: / $YA:
Some grains are nuts / TS 3T A4 §
Some nuts are pulses / gﬁﬂ-ﬁ A

Conclusions: / fAwp:
I. Some pulses are nuts / $ I Ad g
II. Some grains are pulses / $ 3T Gl g

1. both conclusion | and Il follows / &R | 3R 11 a WW%

2. neither conclusion | nor conclusion Il follows /= g fIsBY | 3R =1 gt fsef | Wm%
3. only conclusion Il follows / Had F=pY 11 G@TUTWT%

4. only conclusion | follows / &dd Y | G@TUTWT%

Correct Answer :-

« only conclusion | follows / A &R | STERUN HIAT &

30) Select the option that is true about the Statements and Conclusions given: / 34 fa®ed &7 Ta+

FIRE ifer AT T FY=T 3R Fiswpul & an § 98 ?:

Statements: / PY:
All shirts are pants / It HU PLGGH g
No pant is black / 13 Uded STl el &

Conclusions: / fs:
I. No shirts are black / &3 HHIS BTeit 981 &
II. Some pants are shirts / $ Taqd FHIA &

1. only conclusion Il follows / Had ey || &mm%

2. only conclusion | follows / Had py | @WW%

3. neither conclusion | nor conclusion Il follows /:fébfﬁmﬂh sﬁqqs"rﬁw?sf Il GWUTW%
4. both conclusion 1 and Il foIIows/ﬁ'Eh_Efl GﬁT Il Ea:ﬁ WW%

Correct Answer :-

« both conclusion | and Il follows / &Ry | AR I G S RSRY BHId %

31) Select the option that is true about the Statements and Conclusions given: / 39 R I LE
PIoTE Sifep 3T T BT iz fAwpul & 9 & 98 8:

(10)



Statements: [/ ®Y:
Some pebbles are stones /| P {'[ﬁTﬂ 9T §
Some stones are rocks / S UTUIUT A

Conclusions: / fAspd:
I. Some rocks are not stones / Wﬁﬁ TTYTOT A&t %
I1. Some stones are pebbles / & UTHIUT Hﬁﬂ)‘[%

1. only conclusion Il follows / $Had +Tpy I @WW%
2. only conclusion I follows / ad T5HY | STERUN HRl §
3. neither conclusion | nor conclusion Il follows /T‘T_E:p[ﬁwmfl ﬁ?q{ﬂﬁw l WW%

4, both conclusion I and Il follows / ey | Gﬁ? Il Cﬁ’ﬂ SR BHId %’

Correct Answer :-

« only conclusion Il follows / &Had sy | WW%

32) Find the next expression in the series: / a1 | 3Td UG BT JTd DITOTQ:
A, AAB, AAABBC, ?

1. AAABBBBCD
2. AAAABBCCD
3. AAAABBBCD

4. AAAABBBBC

Correct Answer :-
« AAAABBBCD

33) The series given below contains a sequence of numbers. Identify the incorrect combination: /

913 & 7 graen B, Tesl o1 TP HY SR §1 Tad TaieT Ugar:
121, 143, 166, 187, 209

1,187

2. 209

3. 166

4, 121

Correct Answer :-

+ 166

(11)



If PICTURFEis coded CIPTERU, then how is MIXTURE coded? [ af¢ PICTURE® CIPTERU I ®ifgd
forar ST 8, A MIXTURE 9 9 ifsd fpar smamm?

1. MIXTERU
2. XIMTURE
3. ERUTXIM

4. XIMTERU

Correct Answer :-

e XIMTERU

35) If PHENOL is coded OGDMNK, then how is HYDROGEN coded? | af¢ PHENOL &Y OGDMNK d
Pifed {51 SIa1 8, G HYDROGEN ! $A HifSd fpar SrRm?

1. GZCQNFDM
2. GZCQMIFDM
3. GXCQNFDM

4. GXCQNFCM

Correct Answer :-

* GXCQNFDM

36) Complete the series choosing the missing letter/s: / &l &R/ A& a?rgqaa—\r H@FIT ﬁwaﬂﬁrq
bcc__bc__abcc__b__ca
1l.b,a,ab

2.b,a,b,c

3.a,¢,a,b

4,a,¢a,¢C

Correct Answer :-

* a,ca,c

37) In a certain code language Dark Red Colouris written kim cof demb and Red Ball Pen is written
fink lima kim, then how is Red coded? | T& W19 IS HINT A Dark Red Colour @1 kim cof demb fer@r
oIdT 8 3R Red Ball Pen @1 fink lima kim [RaT 57aT 8, @ Red & 8 ®1s fHar Srawm?

1. lima

2. kim
(12)



3. fink

4, cof

Correct Answer :-
o kim

38) In a certain code language, hela dela kela means secret code word, dela hola jala means the
last word, and kela kola pela means her secret affair. Which is the word for he/ain that code
language? / Th W PIS UNT H, hela dela kela FT 31 f secret code word, dela hola jala 1 31 f the
last word, 3R kela kola pela BT 3 & her secret affair EﬁT %l EX BIS U H helad ﬁl‘t{ 53 3T B1

SEIATS fpaT AT 82
1. affair

2. secret

3. last

4, code

Correct Answer :-

s code

39) Among the following, the leader most closely associated with the Sarvodaya movement was /

Fr=fafae & @ @19 3 Aar, Tdiey sigiad & a1y g9 Feear 3 99 2
1. Rajendra Prasad / JSI& UG

2. Jawaharlal Nehru / STTeYdTd 18 &
3. Acharya Narendra Dev / 3R R& g

4, Jayaprakash Narayan / SIHUDRTR RTIU

Correct Answer :-

 Jayaprakash Narayan / STOUDBIRI ARTIUI

40) The series given below contains a sequence of numbers. Identify the incorrect combination: / = &
TS yadT §, WSSl $1 TP HH SURI § | Tad Faie- ugan-g:

16, 19, 25, 28, 32, 37, 43

1.25

2.43

3.37

4. 32

(13)



Correct Answer :-

32

Topic:- Mental Ability and Mental Aptitude

1) .
In the sequence shown below, which figure comes next? / @il 63 I8 & &, 3176l

JTT i AT 3R

o

2)

(14)



In the sequence shown below, which figure comes next? / @il &3 IR &d &, 3790
3TeRf wlet &t 3ma?

ral: el ST, s
AN A A IS N VAN BN
| | L‘ ‘; L | [ L b 1,
! S — J e
| . / | ; ) f 1 |
T, o N w4 K
- .,

Il"u,, & I NS o .
g < P y
! 1 1 Y

1.
o
T
V"! ‘“! d \
ZEN
\\{ ' J},/
2.
3.
AT
o™ t
4, o

If the following two squares shown below overlap, which one of the following options

is formed? / afg e & aet sfd=nfa gia & aF e & & &l a1 v f&eeT adar §7

YT
?r/) )Y

(15)



SA
A 7O

Correct Answer :-

4) Rs. 750 are divided among A, B and C in such a manner that A: B=5:2and B: C=7:13, What is C’s
share? /750 FUT BT A, B AR CHF T A UPR AT A8 P A: B=5: 23R B: C=7: 13 G811 C I
= FuT frdw?

1. Rs. 250 /250 %UUQ
2. Rs. 200 /200 24U
3. Rs. 260 /260 ¥UUY

4. Rs. 140/ 140 34U

Correct Answer :-

» Rs.260/260%U¢

5)
(16)



What percent of a day is 5 hrs? /5 'Ei%, Udh & &1 fram ufa=a g2

2019
6
1.
2
20=%
3
2,
5
202%
3. 6
4.20 %

Correct Answer :-

6) If the side of a square is increased by 7 %, then, its area will increase by: / qﬁ@ Tt Bt YT T 7% Q'@

& 41 oI ot I QAba A A gie g
1.7%

2. 14.49 %

3.49 %

4.49%

Correct Answer :-

e 1449 %

7) 1If the radius of a cylinder is increased by 20 %, find the percentage increase in its volume. / uﬁwéﬂﬁ ®I

faam 20 T 9@ 4 STE, @ 39 Smaa | g1 arel! g e gk
1.45%
2. 44 %
3.40%

4. 42 %

Correct Answer :-

. 44%

8)
(17)



If the cost of 1 dozen apples is Rs. 18, then the cost of 25 apples will be: /afe Udh oI 99 &1 T 18 IW gl
25 99 T g =1 g

1. Rs. 25.00 /25 30
2. Rs. 36.50 / 36.50 SUY
3. Rs. 37.50 / 37.50 394

4. Rs. 35.00 / 35 3G

Correct Answer :-

« Rs.37.50/37.50 SUY

9) Tap A fills a tank in 9 hours; Tap B fills the same tank in 6 hours. If both the taps are opened simultaneously,
they will fill the tank in: / T 0 A U ¢ P 9 T H YT 3; B I &b B 6 U A YRaT g1 afe 41 9
THATY Ga gl af S fapat R A WR Smeam?

1. 7 hours 30 min / 7 °¢ 30 {3,
2. 3 hours 36 min / 3 9¢ 36 .
3.3 hours 45 min/ 3 ‘EI% 45 ﬁ[

4, 5hours/ 5 EI%

Correct Answer :-
e 3hours 36 min/ 3 1EI% 36 ﬁf

10) A father is 30 years older than his son. However, he will be only thrice as old as his son after 5 years. What
is the present age of the father? / TURT BT 3T T B MY A 30 ITS 31fUF 81 STafh 5 AT 91G I MY
IS T D1 g B A I 811 | Forar o) aawr 3y forat 82

1. 40 years / 40 g
2. 50 years / 50 CL
3. 30 years / 30 98

4, 60 years / 60 Ty

Correct Answer :-

= 40 years /40 Ty

11) If32/x=x/8, then the value of x is: / TS 32 / x = x / 8 Al x BT HH 5+ BIm:
1. 246

2. 16

3. 256
(18)



4. 14

Correct Answer :-

12) A and B can do a work in 20 days; B and C can do the same work in 12 days; A and C can do the same
work in 15 days. If all of them work together, then how many days will it take for them to complete the work? /

A 3R B {5t S0 B 20 f7 ¥ T A 8; B 3R ¢ W 10 &Y 12 R H T 6 ; A 8% ¢ S w1 HY
15 A A R H Id €1 T g T1y freres & &3 a9 &1 fhae feF # gR1 81 s

1, 14 days / 14 f&7
2. 10 days / 10 &
3. 12 days/ 12 fa7

4.8 days /8 fa

Correct Answer :-

e 10days/10fea

13) A and B, working separately, can do a piece of work in 10 and 15 days respectively. If they work on
alternate days beginning with A, then in how many days will the work be completed? / A 3T B S-SR
TP P HRd ¢ SR A SR BT HART: 10 3R 15 31 & R Hd &1 7S A TR 39 31 o3 Fean
2 3R b7 9t Uh-uw 3 SisH? S HXd € a1 98 $r fban e & qof ghme

1. 13 days / 13 T4
2. 12 days /12 f&
3. 18 days/ 18 f&

4.9 days /9 fad

Correct Answer :-
« 12days/12feT

14) The Present age of Mitesh and Saumil are 30 and 40 respectively. How many years before the ages of Mitesh

and Saumil were in the ratio of 3 : 52 / f&ra=r sﬁ?ﬁﬁﬁﬁaﬁﬂﬁmm 30 3'ﬁT40 a’ﬁf%l mﬁﬂ'ﬁfq_&'ﬁ
STDT 3T BT U 3 : 5 UT?

1. 16
2. 10
3.5

4. 15

Correct Answer :-

(19)



15) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: /
A & 18 g H, 2eRY 3R Wit #1 v HH fHfed &1 ad Y ugane:

i.exve0201vexe

ii.exwe0201vexe

iii.exve0201vexe

iv.exve0201vexe

1. iii

16) The sides of a triangle are 5 cm, 12 cm and 13 cm. Find its area. /qﬁ' Th ﬁ"{-ﬁfﬂﬂ' ‘HFITQ' 5 ﬁ., 12 T,
3R 13 T € O 3TPT TP [ P

1. 30 sq.cm/ 30 i gt
2. SSq.cm/San@'m

3. 10sq.cm/ 10 i gt
4. 15sq.cm/ 15 i gt

Correct Answer :-

» 30sq.cm/30 Ukl

17) A bullet travels at 750 m/sec. How long will it take to travel 1 km? / Y®h Qaf 750 HI/A. BI IR I T
211 5 31 gt g fpait R A @ i

1. 133 sec/1.33 9.
2. 14sec/ 149
3.1.5sec/1.5 @

4,12sec/129.

Correct Answer :-

e 1.33sec/1.339.

(20)



18) 4:18::18:7?
1. 80
2.90
3.81

4. 85

Correct Answer :-

19) The average age of five girls is 11. The oldest among them is 15 years old. What is the average age of the

others? / 5 TSTPdl BT ST 3T 11 §1 STH HIQ TSI B 3T 15 99 &1 3T BT 3T BT 3 fobait gRIT?
1.4
2. 12
3. 10

4.9

Correct Answer :-
« 10

20) The average of eight number is 12. The average of six of these numbers is 14. The average of remaining two

numbers is: / 8 3P| BT 1T 12 T1 STH A 6 3fhI BT 3T 14 F1 AV &I 3fh BT ¥ 8:
1.4
2.6
3.7

4.5

Correct Answer :-

21) The average of 7 numbers is 5. If the average of the first six of these numbers is 4, the seventh number is / 7

3P BT 3T 5 81 Tfe TTH | UYH 6 3(ch] BT 3N 4 B ) JTad] IS 8-
1. 12
2. 11

3. 14

(21)



4. 15

Correct Answer :-

22) The average of first seven multiples of 25 is: / 25 & WY 7 UIDI BT I gR:
1. 100

2.75

3. 125

4. 150

Correct Answer :-

« 100

23) Insert 2 fractions between 1 and 3/11: /1 3R 3/11 & S &t Eﬂ' e ﬁr{ﬁ‘ﬂ
1. 4/3 and 4/7

2.2/3 and 1/7

3.2/3 and 2/7

4. 1/3 and 2/7

Correct Answer :-
e 1/3 and 2/7

24) The cost price of a desk and a chair is Rs. 371. If the desk costs 12 % more than the chair, find the cost price
of the desk. / U S 3R HUT BT ARG Yoo 371 TUY B | TS ST B ANTG T A 12% AP & Ol STF
PTANG ea 8|

1. Rs. 195 /195 B0
2. Rs. 196 / 196 3T
3.Rs. 197 /197 39T

4. Rs. 194 /194 39T

Correct Answer :-

« Rs.196/196 30T

25) Smitha, an oil merchant, buys oil at Rs. 33 per litre and sells it at Rs. 40.50 per litre. If she sells 225 litres of

oil in a month, what is her total profit? / m, Ell Udh o TRy %, 333U/, H o Wil % 3R 40.50

(22)



FUA/ALH 9T ¢l 71 afe 98 TP WEH | 225 dlex dd 99l 8, 9 39 oo fha-m ey ghm?
1. Rs. 1487.50 / 1487.50 S0
2. Rs. 1587.50 / 1587.50 U™
3. Rs. 1387.50 / 1387.50 30

4, Rs. 1687.50 / 1687.50 TG

Correct Answer :-

« Rs. 1687.50/1687.50 30

26) Find the average. / 3Nd Freprferd |
7,13,19,25,31 & 47

1.21

2.22

3.18

4. 20

Correct Answer :-

27) Find the average of first 12 multiples of 10: / 10 F UYH 12 '{[Uﬂ?lﬁﬂ Gﬁﬂﬁﬁ"ﬂ
1. 55
2.70
3. 60

4. 65

Correct Answer :-

28) A train of 180 m long passed a pole in 24 sec. How long will it take to pass a platform of 255 m long? / 180

. @<t T 2, TP @ B 24 V. W UR el 21 255 . 9 Th WewiH o) g8 fra-t 3 & uR Sil?
1. 52 sec /52 9.
2.50 sec /50 9.
3.55sec/55 9.

4, 58 sec/ 58 @f

(23)



Correct Answer :-

.« 58sec/58 9.

29) If Akshaya's age is 1.5 times of what it was 10 years ago; and 0.66 times of what it will be after 10 years;

then, what is her present age? / 10 atfu;q‘, & B Gﬂga_chﬁﬁﬂ' 1.5 &t 3R 10 79 91g TSI anga?fnﬁa?r
0.66 BT, IHPT G AT MY fpait 32

1.24
2. 26
3.27

4. 25

Correct Answer :-

30) which one of the following four addresses is NOT EXACTLY same as the one given below? /ﬁ'ﬁﬂ ﬁ'ﬁi
I AR UAl § § A BF O 97 & 8 A S 91 Uk A8 67

Aarianna Bird
386, Boulevard Chefchaouni, ZI Ain Sebaa,
Casablanca, Morocco

(i) Aarfanna Bird

386, Boulevard Chefchaouni, Z1 Ain Sebaa,
Casablanca, Morocco

()] Aarianna Bird

286, Boulevard Chefchaouni, Z1 Ain Sebaa,
Casablanca, Morocco

(il  AariannaBird

386, Boulevard Chefchaovni, ZI Ain Sebaa,
Casablanca, Morocco

(iv)  AariannaBird

286, Boulevard Chefchaouni, Z1 Ain Sebaa,
Casablanca, Morocco

(24)



Correct Answer :-

e i

Topic:- Science and Simple Arithmetic

1 In the given figure, PQ || RS and XY L PQ_ £ACQ = 125° then #BAC = /Tew av ==
H,PQ|IRS AxXY L PQ.2ACQ=123.dd LBAC=

Correct Answer :-

c

« 35

2) The cuberoot of 46 X 65 is: /4% X 65 T HeTHel &

1. 13824
2.24
3.576

4.216

Correct Answer :-

« 576

3) (2 +12x2-83 - 108 ) + 2x=

(25)



1. 10x +4x2 — 12x -2
2.5x3 +4x% —6x— 1
3.5x% +4x3 —6x% —x
4.1+ 6x—4x% - 5%°

Correct Answer :-

e 5x3+4x2—6x—1

. n . B o . T L -_2, -2; < X 2
2y2 +y*is equivalent to: / x* + x2y2 + vy fw ¥ GHGeT &
1 (F+xy-v )= -xy+y?)

(4 + 7y )
2 -xy+ v R - xy - v
3 v +3 V-3

(¢ +xy + 32 ) - xy )
4.

Correct Answer :-

5)
A bag contains 3 red balls, > black balls and n white balls. A ball is drawmn at random from the
bag. If the probability that the ball is red is % then the value of nis: / Uch sier & 3 o e, 5

Sl AE 3R T A FY A A T A aeE B o #1 At o A7 &
WG TeRar < &, al n & A 8-

1.3

2.6

3.4

4.5

Correct Answer :-

. 4



6) ABCDisa cyclic quadrilateral such that ZADB = 30° and 2DCA = 80°,
then ZDAB=__ . / ABCD vs =y agéfa § s £ADB = 30° 3k
2DCA=80° aa £DAB=_

c

1. 80

C

2. 50

c

3.70

o

4,30

Correct Answer :-

c

« 70

7) Find the area of the largest circle that can be cut from a square of side 10.5 cm? / 39 R a@»’ﬁ

BT TGS F1d B3 w1 fF 10.5 A YOIt & a7 | BreT o1 Gl 82

1. 80 cm? / 80 9H2
2.242.5 cm? / 242.5 T2
3. 72 cm? / 72 THR2

4. 86.6 cm?2 / 86.6 THI2

Correct Answer :-
¢ 86.6cm?/86.6 THR

8) Two cylindrical cans have bases of the same size. The diameter of each is 14 cm. One of the cans is
10 cm high and the other is 20 cm high. The ratio of their volumes is: / & JeTR s A 9w
STHR & YR T | AP BT T 14 9 31 370 A TP {1 10 A7t Sa1 8 3R g7 20 At St
21 3P STl P 3FUTd &

1.3:4
2.2:3
3.1:4

4,1:2

Correct Answer :-



9) Reema types 540 words during half an hour. How many words she type in 6 minutes? / 34T 3

He & SR 540 V3| B1 2189 Bl g1 a1 6 e H fora wrsd) &) ersu Hi?
1. 90
2. 100
3. 108
4.106

Correct Answer :-

« 108

10) The difference between the squares of two consecutive natural numbers is 31. The numbers are: /

31 U WTPpfae® GBSl & a7 & dd BT 3 31 31 T BN &
1. 14 and 15 /14 3R 15
2.17 and 18 / 17 3R 18
3.15and 16 / 15 3R 16
4. 16and 17/ 16 3R 17

Correct Answer :-

« 15and 16/ 15 3R 16

11) The smallest perfect square divisible by each one of the numbers 6, 9, 15 and 20 is: / 6, 9, 15 Gﬁ?'

20 B1 T3 & T UAS F gRT fauTora agaw yof o 8:
1. 36

2. 900

3.3600

4,225

Correct Answer :-

« 900

12) An astronaut is standing on the moon. He throws a ball upward. The ball would: / T G-i?lﬁ&l' q'l’ﬁmq?

WST81 98 Te SN 91 3R Bpdar g1 e

1. Keep bouncing on the moon / d&HI R IS ?%;‘“I

2. Go up and then come back to the surface of the moon / HUR W7 | G‘ﬁ?ﬁﬂ s HI GA| gde UR diuy 3T STl Tl

(28)



3. Fall into space / W&T'ﬁﬁ'\rm@'ﬁl
4. Keep going up and never come down /Wﬁﬂ?ﬁﬁT@ﬂGﬁT$lﬁ:ﬂ%[:l—E&3ﬂmﬁl

Correct Answer :-

¢ Go up and then come back to the surface of the moon /W\_rl'@ﬁ @Tﬁwmaﬁwmm HTGITQT?H
13) Name the watery fluid in which blood cells float. / 39 mewmﬁmﬁmﬁﬁﬁ%l
1. Serum / IRH

2. Blood /Xpd

3. Plasma /Gﬂaﬁa:q

4. Lymph /mﬁm

Correct Answer :-

¢ Plasma /\_rﬂ_diaﬂ

14) Identify the airborn diseases from the following: / ﬁmﬁﬁmaﬁaﬁﬂaﬁqﬁﬁaﬁ
1. Goiter and marasmus /ﬁmqaﬁﬁ[qﬂ

2. Common cold and tuberculosis /WW@W (Stall)

3. Rabies and AIDS /W@Q@E

4, Cholera and diarrhea /%GTQEW

Correct Answer :-

e Common cold and tuberculosis /WWQGW (?ﬁﬁﬁ)
15) The surest test of magnetism is: / THAB AT BT UH BT URIE0T &
1, Hammering / 9-IdISH

2. Attraction / 3MHYUT

3. Repulsion /Qﬁm

4, Diffusion /ﬁw

Correct Answer :-

* Repulsion /qi%lmfur

16) Which particular area of the eye contains no sensory cells? / 3g & fpd famiy asrﬁaﬁ‘s?ﬂé?ﬁﬁm
eI il 82

(29)



1. Iris / URATRST (SM2R)

2. Eye lens / 3 TR (3MTS T19)

3. Blind spot / 3T (RS UIC)
4, Cornea / YATUCH (SBIT-ia)

Correct Answer :-

« Blind spot / 3{R[A (mégqﬁf)

17) The network of drainage pipe to carry out waste water is called: /Wﬁl‘?ﬁﬁﬂﬁ%ﬁﬁ%mgﬁﬁ
U1SY & Acad $l HeT AIal &

1. Sewer system / R GRRSIY ]|
2. Drainage / STAM®N

3. Waste water supply / 3OS S 3Tgfd
4. Water supply system / STeT SfTYfe Horett

Correct Answer :-

« Sewer system / Ia= HOME!

18) Which one of the following statements is NOT true for a rectangle? / T® 3T-d ® ﬁl‘l;f Fafafaa
A T I 9T YT II 81 82

1. Its diagonals bisect each other. / $9d% fAHUl T R oI fguiford wvd €1

2. Its diagonals are perpendicular. / b fawul Traad g %I

3. Its diagonals are equal and bisect each other. / Eﬂ% faeul gum aﬁ % 3?[? Udh @% Ca @'l-ﬂﬁfﬂ A %I
4. Its diagonals are equal. / 3@? fooul gue @ﬁ %I

Correct Answer :-

» Its diagonals are perpendicular. / 3P fapul Traad gid 1

19) The population of a town was 25000. If it had increased by 4%, 5% and 8% in the last three
years, the present population of the town is: / Td RgX FI @ 25000 A afe Uoa §F quf # q%
4%, 5% 3R 8% W 9, Al G B TAAT THHST 7:

1. 29484
2. 29000
3. 29400
4, 28900

(30)



Correct Answer :-

« 20484

20) Rahul gets Rs. 5000. He spends 15% on studies, 28% on food and 10% on clothing. His
savings will be: / g &I 5000 FUY YT gCI ST UETS UR 15%, HISH W 28% 3R HUS! WR 10% T
P fear S99 T9a ghft :

1. Rs. 2500 / 2500 39
2. Rs. 2200 / 2200 ST
3. Rs. 2300 / 2300 T9I
4. Rs. 2000 / 2000 ST

Correct Answer :-

« Rs. 2300 /2300 3T

21) By what number should (-15 ) ~ 2 be divided so that the quotient is equal to (-5) ~3? / f&a T=
ERT (-15) — 2 FY fyuriora s aifee s % urmea (-5) —3 & g9 87

Wwom

U | o

4.

Correct Answer :-

22) Reproductive functions in humans are initiated by: / ﬂﬂ'&ﬁ s | Wmﬁﬂ% GIRT 3R 5o s

1. Hormones / E'Pﬁ:f
2. Nerves / AIAPT
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3. Enzymes / USIISH
4. Blood / SfeR

Correct Answer :-

e Hormones / Ellﬂ'—‘l

23) Earthing is provided in homes to protect the homes from: / WA Q;E‘iﬂé’_-[, ‘ﬂﬁﬁ%’\‘lﬁiﬁlﬁ%ﬁm
WS fHar SITaT 3:

1. Electric shocks /M%W
2. Earthquakes / YehU

3. Cyclonic storms / dhdld I
4, Lightning /@Tﬂ?ﬁ

Correct Answer :-

« Electric shocks / fSreTett & Sied

24) The water conducting tissue generally present in gymnosperm is: /ﬁl@@ﬁﬁmm
oTd AT AP o:

1. Xylem fiber / SIIS¢TH aq
2. Sieve tube /ﬂ]ﬂ:ﬁm

3. Vessel / dI g%l@
4, Tracheid / aﬁ?{

Correct Answer :-

« Tracheid / aﬁg

25) The percentage of solar radiation absorbed by all the green plants for the process of

photosynthesis is about -/ mmﬁwaﬂm%mmﬂﬁlﬁtﬁm AT IR
fafesor o1 uferra wry g gl

1. 1%
2. 5%
3. 10%

4. 8%

Correct Answer :-

e 1%

(32)



26) Which of the following is a male hormone? / ﬁqﬂﬁﬁﬁqm@w'@m‘h%
1. Insulin /E:I\ﬁﬁ'l:[
2. Thyroxin / YRRIfRTT

3. Estrogen / leﬁl:l
4, Testosterone / éié Q%?-I:l

Correct Answer :-

« Testosterone / ST

27) Which one of these is the most appropriate consequence of deforestation? / IBE ﬁﬁﬁqu

FAI=IE T AaifP Suged ufkoma 82

1. Destruction of habitat only /a”ﬂﬂ IEIRECAREEIE]
2. Global warming only /W {n@?ﬂtr@&ﬂw
3. All of the above /mﬂm

4. Soil erosion only / WIET SURaA

Correct Answer :-

o All of the above /mﬂlﬁ
28) Angiosperms possess: [ qﬁtﬁmﬁﬁaﬁﬁ%%
1. Seeds / ElS|

2. Flowers / d
3. True vessels / AR(ATAP dlfgDHIY

4, Tracheids /aﬁg

Correct Answer :-

« True vessels / ARAAfdSP dlfRHIY

29) The most common chemical used for water disinfection is: / WW%WWW 3
A B

1. Oxygen / it
2. Chlorine / TR
3. Nitrogen/:lléfﬁj ol

4. Carbon dioxide / PTe SIS

(33)



Correct Answer :-

¢ Chlorine / FAR

30) The major cause of environmental pollution is the use of: /QTI'YHTUﬂ'q WWWWWW

1. Fossil fuels /Gﬂa'lméﬂ:[
2. Tidal energy /G@ﬁumﬁ
3. Wind energy/WW‘f
4, Solar energy/ﬁ?(b‘_vlf

Correct Answer :-

¢ Fossil fuels /Gﬁa'l'-‘l'\ﬂ:{_scﬂ:f

(34)



